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On Sept. 15, Caprock Corporation purchases 1,000 shares of its 

common stock on the market for $50 per share. 

When treasury stock is purchased, it is usually recorded at cost: 

Sept. 15 Treasury Stock, Common 50,000  

  Cash  50,000 

   Acquired 1,000 shares of the 

company’s common stock for 

$50 per share 

 

      
 

Purchase of Treasury Stock 
Illustrated 



Stockholders’ Equity Section 

Contributed capital  

 Common stock, $5 par value, 100,000 shares    

 authorized, 30,000 shares issued, 29,000 shares 

outstanding 

 

$150,000 

 Additional paid-in capital  30,000 

 Total contributed capital $180,000 

Retained earnings 900,000 

Total contributed capital and retained earnings $1,080,000 

Less treasury stock, common (1,000 shares at cost) 50,000 

Total stockholders’ equity $1,030,000 

 

Notice that the number of shares issued, and therefore legal capital, has not changed 

even though the number of shares outstanding has decreased. 

Purchase of Treasury Stock 
illustrated 





Answer 

(#shares: 

50,000 + 

80,000 – 

10,000) x 

$0.4 

50,000 x $8 

$500,000 - 

$400,000 

$960,000 - 

$640,000 
80,000 x $8 



Answer (cont.) 

$1.040.000

420.000

$1.460.000

32.000

$1.492.000

150.000

$1.342.000

* $80.000 – $48.000 =

2. Stockholders' equity section of the balance sheet prepared

Balance Sheet

$32.000

Total stockholders' equity

Contributed capital

Common stock, $8 par value, 300,000 shares

authorized, 130,000 shares issued and

120,000 shares outstanding

Additional paid-in capital 

Retained earnings*

Total contributed capital and retained earnings

Less treasury stock, common (10,000 shares at cost)

Total contributed capital

Stockholders' Equity

November 30, 20xx

Sussex Corporation
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Answer 

40,000 x 

$100 X 0.07 = 

$280,000 per 

year 

$140,000 / 

40,000 

$800,000 - 

$420,000 = 

$380,000 

$1,100,000 

- $280,000 

= $820,000 

20x7 

20x8 

20x7 

20x8 dividends 

20x9 



Answer (cont.) 

Per Per Dividends

Share Share Allocated

$ 3,50 $ — $ 140.000

$ 7,00 $0,87 $ 800.000

$ 7,00 $1,37 $1.100.000

2.   Dividends calculated for noncumulative preferred stock and common stock

$280.000

Total

Preferred Stock Common Stock

Amount

Noncumulative

Amount

—

Dividends

$280.000

Dividends

$140.000

$520.000

$820.00020x7

20x5

20x6 *

*
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20x7 

20x8 

20x9 



Answer (cont.) 
Dividends Yield Ratio 

Shareper  PriceMarket 

Shareper  Dividends
  Yield Dividends 

%3.1
$24.20

$0.32
 Microsoft 

Tells investors how much they can expect to receive in 

dividends expressed as a percentage of the  

market price per share 



Answer (cont.) 

$0,87

$15,00

$1,37

$17,00

3.   The 20x6 and 20x7 dividends yield for common stock calculated

20x7

=

8,1%

Dividends Yield
Dividends per Share

=

=

20x6

5,8%

*Rounded.

Market Price per Share
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